
Reside

Line 1: The total amount subject to withholding
 
120,000.00 (Amount Subject to Withholding on
x           .40 (Partner #2’s interest in Partnershi
  48,000.00 (Amount subject to withholding
Example #5C:  Partner #2 
nt partner with a 40 percent interest 
 

 is shown on Form 592-B given to Partnership H 

 Form 592-B given to Partnership H) 
p H) 
 for this partner) 

Line 2: Enter the credit allocated to Partner #2 on line 2. 
 
  8,400.00 (Total amount withheld from Partnership H) 
x         .40 (Partner #2’s interest in Partnership H) 
  3,360.00 (Total CA tax withheld for this partner) 
 


